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All questions are compulsory.

AT If 36 men can do a work in 25 days. then 15
- men can do the same work (in days) :

(Section-A)

(@) 61 (b) 350
(9 ) (c) 56 (d) 60
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For the commission of Rs. 4500 at 4% the

amount of sales is : onlineBU.com

(a) Rs. 150 (b) Rs. 180

(c) Rs. 200 (d) MNone of these
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(31) 10x + v (F)-10y + x

(F) xy () x + y

Tens digit of a number of two digits is x and

units digit is y, the number is :

(@ 10x + y (b)y 10y + x
) x d x+y
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(31) 7 (&) 6
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The sum of two numbers 1s 7 and their Pr{}duc[

is 12, the larger number is :

@ 7 - ®) 6

€ 5 @ 4
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Who prepares Invoice 2
(a)  Purchaser (b) Seller
(¢) Agent (d)  All of above
Vi) 3 x4 & Mogg § wewl (o) = wem &

(31) 3 (=) 4

(/) 7 (a)l 12

Number of elements in 3 x 4 matrix is :
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(3) 3 x4 () 4 x 3
() 4 x4 () 3 x3

The order of matrix having four columns and
three rows s -

@ 3 x4 B 4 x 3
© 4% 4 (d 3x3
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Which is the upit matrix from the following
matrices 7
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x) log @) #1 ®A ¥ :

(1) 0 (= 1
() TL (7) 49
(5)
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The. value of 10g4(4)T is :  onlineBU.com
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© 7 (d) 49
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Characteristics of logarithm of 0-2063 ig -
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(F) 247

(d) None of these
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The derivative of x3 is :

(b) 3x
(d 3x°

(xiii) 1,500 %. =T 30, F1 T 3 TH & WHURY =

(a) =x
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(31) 120 =.

(9) 1,140 %.

(=) 360 %.
(%) 1,860 &
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Simple interest of Rs. 1,500 @ 8% for 3 years
isé 1

@ Rs. 120 () Rs. 360

© Rs. 1,140 () Rs. 1,860

(xiv) 400 ¥. 6% doIfd® %I < ¥ 2 99 & fou S%gfs
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(#H) 48 ®. (&) 5392 .

(¥) 4944 =. (%) 449-44 =.

Compound interest of Rs. 400 at 6% p.a. for 2
years is : onlineBU.com

(a) Rs. 48 (b) Rs. 53-92

© Rs. 49-44 (d) Rs. 449-44
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To Sell an article for 90 by purchasing it for

Rs. 100 means :
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The ages of A and B are in the ratio of 9 : 4, seven
years hence the ratio of their ages will be § : 3. Find
their ages.
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Divide Rs. 7.065 between Arvind and Anand m the
ratio of 4 : 5.
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A boatman goes 96 km in & hours with the flow of
a river and return in 12 hours against the flow. Find

the speed of the boat and river.
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Find the value of X and v if ¢ onlineBU.com
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Find the value of the following :
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A certain sum at simple interest becomes

s:l gg,

5. 1,200
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in 2 years and Rs. 1.300 in 3 years. Find the
principal and interest per cent per annum.
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If a dishonest shopkeeper measures 4 cm less of a
melre, then find how much per cent he eams by this
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(Long Answer Type Questions)
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In a cash box there ar¢ coins worth Rs. 64. The
ratio between 1 rupee, 30 paise and 25 paise coins
as per their numbers 15 4 o 9 ¢ 6. Find the total

mumber of coins of cach denomination.
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How many pens an agent need to sell at Rs. ¢

- el ~ -50 at the
cach to earp g commission worth Rs. 85-50 at
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Find the two pnumbers whose sum is 64 and whose

difference is 16. onhneBU.com
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Find the number of years ip

! which a sum of money
will quadruple itself g compound interest rate of
10% per annum 2
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By what per cent must the cost price be raised in

fixing the marked price so that there may be a profit

of 20% after allowing a commission of 10% ?
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